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QUESTION 1

Which two statements are true about a job chain? (Choose two.) 

A. A job chain can contain a nested chain of jobs. 

B. The jobs in a job chain cannot have more than one dependency. 

C. A job of the CHAIN type can be run using event-based or time-based schedules. 

D. The jobs in a job chain can be executed only by using the events generated by the Scheduler 

Correct Answer: AC 

 

QUESTION 2

You executed the following commands: 

SQL> ALTER SESSION SET OPTIMIZER_USE_PENDING_STATISTICS = false; SQL> EXECUTE 

DBMS_STATS. SET_TABLE_PREFS(\\'SH\\', \\'CUSTOMERS\\', \\'PUBLISH\\', \\'false\\'); 

SQL> EXECUTE DBMS_STATS. GATHER_TABLE_STATS (\\'SH\\' , \\'CUSTOMERS\\'); 

Which statement is correct regarding the above statistics collection on the SH.CUSTOMERS table in the 

above session? 

A. The statistics are stored in the pending statistics table in the data dictionary. 

B. The statistics are treated as the current statistics by the optimizer for all sessions. 

C. The statistics are treated as the current statistics by the optimizer for the current sessions only. 

D. The statistics are temporary and used by the optimizer for all sessions until this session terminates. 

Correct Answer: A 

 

QUESTION 3

Which option must you configure while performing an automated Tablespace Point-in-Time Recovery (TSPITR) by
using Recovery Manager (RMAN)? 

A. New channels for restore and recovery tasks 

B. New name for the data files of the tablespace 

C. Auxiliary name for the data files of the tablespace 

D. Auxiliary destinations for an auxiliary set of data files 
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Correct Answer: D 

 

QUESTION 4

What is the effect of increasing the value of the ASM_POWER_LIMIT parameter? 

A. The number of DBWR processes increases 

B. The number of ASMB processes increases 

C. The number of DBWR_TO_SLAVES increases 

D. The rebalancing operation in an ASM instance completes more quickly, but can result in higher I/ Ooverhead 

Correct Answer: D 

 

QUESTION 5

Your database is open and running in ARCHIVELOG mode. 

You take RMAN full backups every Sunday night. 

On Monday morning, while querying the user1.emoloyees table, you receive the following error message: 

01578: ORACLE data block corrupted (file # 5, block # 51) ORA-0lll0: data file 5: 

\\'/u01/app/oracle/oradata/orcl/exanple0l.dbf* You need to recover from this while ensuring that: 

1. 

The data file remains online. 

2. 

Mean Time To Recover (MTTR) is minimized as much as possible You have no backup control file, but all the archived
logs are accessible. Which method will best satisfy the requirements? 

A. flash back the corrupted blocks 

B. use the DBMS_REPAIR package 

C. use RMAN tablespace point in time recovery 

D. use the RMAN BLCCKRECOVER command 

E. perform a table point in time recovery with datapump export and import 

Correct Answer: D 
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